D, correction

Fit Ds — ¢(pp) in data. Fit Ds — ¢(pp)m in MC.
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D, correction

Fit 7 — ppp in MC.

A RooPlot of "mass"
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| did Splot for our control channel:Ds — ¢(upu)m.
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| did Splot for our control channel:Ds — ¢(upu)m.
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| did Splot for our control channel:Ds — ¢(upu)m.
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Events 4( 0.025 )
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| did Splot for our control channel:Ds — ¢(upu)m.

3
s
3

2
8
L e e e s e
T T T [ o]

Brents / (0.78)

10000

5000

=)

S
3
S

.
Bvents / (0.55)
2

.

3
3

LML B B

Le

‘. se 0000000000000
R AN A

I R I R SR




9000
S
89000

§

g
8000
40000
30000
20000

10000

o

| did Splot for our control channel:Ds — ¢(upu)m.

isod isoe

0000
S
89000

§

g
8000
40000
30000

20000

JrT T

10000

.

T T[T [ TTT T T T T T T8 T

T
*

[

R R S Y R SR 0 N i N i R SR
5 10 15 20 25 30 5 10 15 20 25 30

isod isoe




| did Splot for our control channel:Ds — ¢(upu)m.
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| did Splot for our control channel:Ds — ¢(upu)m.
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